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1. True/False Questions: (40%, 4 points each)
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a. China raised interest rates for the third time since mid-October ahead of a report
forecast to show inflation accelerated to the fastest pace in 30 months.

b. The DGBAS noted that the appreciation of the NT dollar offset three fourths of
imported price hike, dampening wholesale prices and stabilizing overall price level.

c. Oil prices eased Friday as concerns mounted that anti-government protests in Tunisia,
Egypt, Lebanon and Yemen could affect Middle East oil production.

d. America's central bank announced that it would pump an additional $600bn into the
ailing US economy in an attempt to accelerate growth and cut unemployment.

" e. The US GDP data indicated pickup in economic expansion in the fourth-quarter,
" helping base metal prices to move in the upward direction.

f.  The US Dollar Index (DX) depreciated in the initial part of the week, and this factor
caused prices to decline in the international markets.

g. Low interest rates in the US have also encouraged shareholders to move assets into
bond markets. ‘

h. The S&P 500 Index has hit a new landmark by reaching twice its financial crisis low
driven in part by quantitative easing.

i. Following downgrades of credit ratings for countries such as Greece, Ireland,
Portugal, and Spain, sovereign bond spreads narrowed and the CDS spreads
decreased.

j.  Expectations of a UK interest rate rise and retail sales surge continue to devalue the
Pound sterling.

2. Translate the following arguments. (30% > 10 points each)

a. Asian stocks gained, helping the region’s benchmark index rebound from its worst
week since August, while the won strengthened after Japan’s economy shrank less
than forecast and Egyptian President Hosni Mubarak resigned.

b. Japan’s gross domestic product fell less than estimated in the fourth quarter ina
pullback that may prove temporary as overseas demand revives production after the :
nation fell behind China as the world’s second-largest economy.

c. The euro fell toward a three-week low against the dollar on speculation European
finance ministers who meet today will struggle to agree on debt- reduction targets

\ ‘amid concern the region’s crisis will persist.
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3. Fill in the following blanks with appropriate keywords provided.
(30%, 5 points each, link the possible answers with the following order)

(a) (b) - ©
(d) (e) ®
Possibie Answers:
Stress future  economic  ratings competitor currencies region

capital marketplace  charge pricing  services company bankruptcy

| Warren Buffett, the billionaire chief executive officer of Berkshire Hathaway Inc.,
said he rates businesses on their ability to raise prices and sometimes doesn’t even
consider the people in (a) . “The single most important decision in evaluating a
business is (b) power,” Buffett told the Financial Crisis Inquiry Commission in
an interview released by the panel last week. “If you’ve got the power to raise prices
without losing business to a (¢} _, you’ve got a very good business. And if you have
to have a prayer session before raising the price by 10 percent, then you’ve got a terrible

business.”

Australia’s four biggest banks and their New Zealand unit may have their __(d)
cut by Moody’s Investors Service on concern that access to overseas markets for funding
will be “significantly restrained.” They’re likely to remain in the Aa category after the
review, Moody’s said in a statement today. The Australian and New Zealand (e)
pared gains after the announcement. Moody’s said funds from (f) markets

‘account on average for 43 percent of the lenders” liabilities, making them vulnerable to
shifts in investor confidence. Still, the banks have bolstered local deposits and curbed a
| funding shortfall, an analyst at Southern Cross Equities Ltd. said.
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1. (10 %) Find the derivative of log = x with respect to x.
2. (10%) Find = |x? — 4].
3. (10 %) Find the instantaneous rate of change of the function f(x) = log, 2* atx=2.

4. (10 %) Find the indefinite integral of [ vx e¥™ dx .

5. (10 %) Find fol/zﬁ(i_x) dx .

6. (10 %) Find the '(x) if f) = [* S-dt .

Inx ¢t

0 . . ax2-y? ., .. .
7. (10%) Find llm(x,y)ﬁ(o,o)w if the limit exists.
1 [+ ..-lxz
8. (10 %) Show that ﬁf_we 2t dx =1 .

9. (10 %) Find the radius of convergence of the series Z?___O%ﬁ .

10. (10%)Let f(x) is asmoothing function. Show that:
For the nth Taylor polynomial p,(x) atx =0 of f(x), the errorat x, [Ry(X)| = [f(x) — pa(x)l,

satisfies

Rp(x)| < x|+t

(n+ 1)!

where M is any number such that If (n+1) (t)! <M forall t between 0 and x.

X xk: LFARE THHERE, LHES -
2. RMAMEGHRBTERAMER o
3. EAANFESTEEAT EM - 28 FRIAGTRRTEL  ABFZRERE -




ARAH 10053 A 18 BF 46
REA3H REAS L)
#BMBEE L AMARRL EE A ARA L

(100) #fi4= R 278 P2 43 £ F 3 AA

— B % 60% (RHEEAE)

L AR A4 R RRBEIAHBER BRI UATREEAS » AT R

a. #£NEBAAH 6000 ERE  FETRRMESRKAHRS_(L)

b, BEADBAER 12 4ARE > W EARCRERANAMGKET » A MERRTVERER
(2)  GE#F#F) (a~ b f N AREATH R AALSY R A -AT 6 2E )

AR BinA(E)  #OE R AR NPV
1 1000 2 1020
2 1500 3 1900
3 1500 4 2200
4 2000 3 2500
5 3000 10 6020

|
2. Bk R AREN R B 4% > THEHA A TR R A 10% 0 4B E B 16% o #AFHN WK R KRS
B 00% > WG T A At ML 0,06 AR4E CAPM e & » 3 B R A8 9 wEBAma A (3)

3. A E A B AREE ARE L AT AR 10%- 25552 AKRH SRS 2500 % AT o HRAF
WEEARE S A% LA AREGERRAGAR  REMMEE - & HEeB LA QRECRHRRA
g RSB REY F D (D) (@ﬁ%kﬁiﬁiﬁ’ﬁ&ﬂ%%ﬁ%%)

4, AR AN E) LA FERR TR EREE LD A BARH R RFBIEE A N 5] 84 B A B8R 0% g K 6%
R R EERARE N EAAMBEEEEARR 11N £ A AKE BB HGENST, B RGESERR
Bt (5) (mBEANEPEBHEE—M)

£ 0.60 0 ko R EABAESE 4% THFRTASBMENESR

bR A NS BB SR 2. 160 BAARE
w2 6,4 60%e0 A AR 2 R 40%eh B AR B 0 3 FIELF a 6 e TR R

10%- BBEAETEEX T —EKHFL
xu%Y (6)

b %A LTI A A % BN ERA SO M THEREEH  BETURR 600 BHRERE
A 50% 64 He 77 4% B AR R A AR -200 E0RARE - BEYWENE 1200 & > #r35.% 20%
0 AAXSESWELT  wRESEREFREA_(D
b Akl TREKEEY  AABEEMOBREMSS_(B)

7. BB ER TG W i%y’tﬂ‘ﬁ_tﬁﬁﬁé@ﬁﬁééﬁiﬁ%‘ﬁ%‘%@ﬁP&%Tﬁdﬁﬁsﬁé@i*&?ﬁs’t%’%Fa'i“rﬁia%és’t‘éf
ﬂAé’Jéﬁ.ﬁiﬁi\ﬂEaﬁ%ﬁ €))




2 g R ORBRAESNBREEIR)

A 10 30
B 20 15
C 30 10

8. FTHLAMAMERHSMEHRE @b K CAPY shiirms__ (100 (THE)
. BATHRARNES  LEMRME SN ERRAE

ad

b, JRIBEE ARG B35 1.5 BT E T RB & HNRAE
c. BBERAMRAESNES BREAL SR

d. FEABREESHNE—LRATHELRERRE £ HHER
e. BEXWARGHERCHETHAERANEHTE

0 FHIMAME S e AR R ey (11D CTHEE)
aETIHAHNE SR IRBRAEL  NERHEZORFABRBHYAME
b A HNAA E - FHAEE G HRIT BRI
c B RAMEH RO F X EMA LEABN 0 BOALITA BRANER
d 235 55 B 45 04 1 5548 BON B 87 05 B R 4 1R 58 T 5 A 9 ) RAF R
e W EEHAT B 60T B R ENAA F

10, FHMARSHM AR Eakey (12) (CTHE)
a 4% F AR 2 oY 4E AR R B AV A B Ao B AAIR F
bamEERLERMN IR ERAARSHRLEI
cBELESHOE  HETLANRBMETRRULRS
AZRELINERESALBRLERMELAR, AIRE
e L EAMBELENLE MR T ROMBE FHIK -

5
45“
F
=
P
e
o#
o
ik
N

St
oD
=

=M% geh A A0%

L AT AT WA T, A LT, S ERANAMEQRF LY, R@ T F R U4 H2992 & (20%)

(1) TR RA 24T 2 » 48§ 35 50 0 B B e fF 5 S B8 20 3 B B a0 A & 7 Lo U B0 FR

(2) AT EHREREAGE > bk RA HNRE D5 RN , |

(3) B ey SR &AM AT I XA RRATERFEERA

(4) —farr ide & R RSB S RE > BT RUERAR 48 FRIMeRELS 3Th > MRA
2396  famikeh AN A A 11, T4 % Hw 9.9% -




HE A B C
REEe 300 & 200 & 500 &
PO SR 3R B R 16% 10% 15%

(1) BRBEHBEES D HBRANBRESENLFETERTLERATRY

()23 B34 800 HRAA], EMAIMMEB T LARE NIE LGB, AIENIIRT

(B A sL B3 % 800 BAA|, EAHHIIRE, FHCEERTHFABIR T &1
B %D THRAG R RGRIE A

2BRNAELARAH 12, LBAHEZTSA 1000 E 4, Z N BATA ZBTITHERE

& ko T & 1 (20%)

W oxE L EABELE THEHEES LHE -
9. ABRBB T AT ER/EER  RBARLSELAHY -

3. A MEABTEEASEM S FRARARTHKTEL  AAFLREAE -




